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rI 2K 601_DIGITAL SIGNAL PROCESSING

Ma:rimum: 100 Marks

Answer allqucstion*

1. , (a) Stqt€ and ppve ti.me shifting property o{Fouriel-lrlgsform. .

(b).Derive..t,bb.necegsaryandsufficientcondition!91.cauqali'f.ofanI.[Isystem....
::

(c) State and prove any two properties of DIS.
(d) Draw the basic buttfly diagram of IJIT-FFIT algoritlim and explain.

(e) Describe impulse invariant mapping used for designing ffi filter.

(f) Explain the design procedure of FIR filter using Kaiser window fundtion.

(g) Realize the following system function using minimum number of multipliers i-

H(z)= t+!"-r *L"-'+\r-e *!"u +z-5.3443-
Er.plain about limit cycle oscillations.

(8x5=40marks)

(i) Find the magnitude of the frequency of the system having difference'equation

1

t(n)=- jtO -1)+r (z)

and plot'it.

(ii) checlfwhether the follswing system is BIBO sta{e or not ::
y(n)=r(n)+eo t(n-L).:

Or

(b) Find the irnpulse response the system having difference equation :

'Kl
' y (n) -1 v 0r-1)+ i v b -2) = r (n) + r(z -1)'-60

i

3. (a) Find the.linear convolution of r (n) = 14,5,61with h 12; = {2, 1} using DFl[.

:or
(b) Find the 8-point DFT.of r (n) = {1, 2,9,4,5,6,7,8} usingDII-FIII algorithm.
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Ar.t*Au A&wing sposincbtions' Use bilint tras*g*gn
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(b) DesieadigitalfnU"ta-e""fnft";,gygfg;1"iesat02rad/stc'and0'3rad'Aec'"ffi:H;:ffi ; r.i ='s ti*il"*lbewi*dn nrnctim'' l:he oltfr @ter P N = -" v- 'ry -' -- 
he svstem hhving:sJd€ntrmctf@ :
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